Bk — A AL 100 58 FLE BEER RAK

% o3 DESEMES o @m 3 F@

# FHRE © 2342 | Z g g
T EFIE

1~ A#ABAAERTTFHAES -
2 HNEER IR ZHEEEL  FFUMRTHL -

{’E/‘:’Eéﬁﬂ

FRBIE 6 ABE  ME—FESFER F TR T ’\\’FAB# B \E@%F {E
Z - BREIMES 10 7 - .

Exponential Distribution: f{X) = Ae™* 0<X <o,
0 otherwise
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CoviX Y)EREratey X, Y 2 88 (Covariance)

p( X V)EREHusE X, Y ZfHR{REE (Correlation Coefficient of X and Y)
EX) SRt X < #E B (Expectation)

VX)EReag X 2 FZE(Variance)
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6. Let random variables, X; and X,, have same probability density function.

To prove Cov(X;+ X,, X;-X2) =0 ' (10%)
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